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S0 1. The curve represented by the parametric equations

$=sec2t,y=cost, 05t<g

is represented by the rectangular equation
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5102 2. The graph of the parametric equations
z =cost, y=2cost+1
. = :L(‘OSt +\
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a) a line segment (correct)
(a) g

(b) a circle
(c) an ellipse
(d) a hyperbola

(e) a parabola
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g o 3 3. The slope of the tangent line to the parametric curve
r=t"—ty=t2-3t—1

at the point corresponding to t = 2 is equal to
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s oY 5. Converting the rectangular equation =
< 4 AN z g =o
(22 +y?)? — 422+ 442 =0 (_qr(0g6+q(5'ﬂ
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to polar form, we get L (f 4
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(a) r2 =4 cos (29) = )i 3 (correct)
(b) r? =2 cos (26) ;’:‘3'1‘1 j, :
(c) 72 = 4(cosf — sinh) F v"“? Y Ca,_g‘e _Sm 6)
(d) r = 2sin (20) E
Cos(26
(e) 72 = 4 sin (26) iy LN )
H I
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' 6. The polar curve r = 2cscf + 3 has a horizontal tangent line whenc o
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%,[o. 5 7. The area of two petals (two loops) of the rose curve 7 i
= 9 ' 2 S\n(g 6) 5
sy L ataspsniblee Lo CUEE ..
is equal to : = G =9 *31*1{)‘“‘
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5 8. The area of the region outside the circle 7 = 2 and inside the circle r = 4sin#@ is

equal to o i B nte(secnin "
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Exawle S \S&«
§|0 S 9. The 7a;u‘ea of the surface formed by revolving the circle » = cosf about the line
e # = —isgiven b
T ’ S. Jzu.{‘fosexxr“'(da) 46 ;lé- s ©
W S
" = j 2% « Cose.Cus6 me 46
(a)/ om - cos® 0 df 0 — (correct)
0 h 2
¢
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(b) / 2m - cos® § dff = OS R
0 0 1
(c)/ 7 - cos” 0 df = J i Gaihd
0 S
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(d)/ 27 - sinf - cos  df
0
(e) f 7 -sin@ - cos 0 df
0
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10. If C(a, b, c) is the center of the sphere
322 + 32+ 322 —18x+62+24=0
then a® + b* + % =
£+jq+£-élf1? 828
ek ad en wan il s~ B
(a) 10 (correct)
A T b
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SU -1 11. A vector that is orthogonal to both vectors

=i+j+k v=2i+j—k
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(a) S 3j G R (correct)
(b) 3j —k 2 1 (-0 =) (—1-2) 4+ (V-2)
(d) 2i + 37
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° 12. The projection of @ =< 1,—2,3 > onto Fme =112 > s
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= 4 ‘ J Al
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3 4" 13. The volume of the parallelepiped having adjacent edges

g=<311> t=<2,1,0>,9=<1,~-1,—2>

i 1t - :
is equal to 1].31(:)) - 3 \ l\
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(v) 6 S el RO 8
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gl "% 14. The vector of magnitude g that has the same direction as the vector < 2,—-2,1 >
= 3 ¢1' —ll 12
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& T W 3 L2,V
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15. If R(a, b, ¢) is the point that lies three-fifths of the way from P(0, 1,2) to Q(2, —1, —3),
thena+b+c=
(a) 0 (correct)
3 ¥
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G
d) 1 =9
(e) -3 PP_ I PR and B,
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